
nasadzovacieKriterium = Nasadenie(...)
disciplinarneKriterium = ScitacieKriterium(Disciplina())
kr6 = ScitacieKriterium(RozdielGolov())
kr7 = ScitacieKriterium(Goly())
kr8 = ScitacieKriterium(GolyVonku())
kr9 = ScitacieKriterium(Vyhry())
kr10 = ScitacieKriterium(VyhryVonku())

kr1 = ScitacieKriterium(Body())
kr2 = ScitacieKriterium(RozdielGolov())
kr3 = ScitacieKriterium(Goly())
kr4 = ScitacieKriterium(GolyVonku())
k1_4= ZlozeneKriterium(kr1, kr2, kr3, kr4)

bodyKriterium = ScitacieKriterium(Body())
k1 = ZlozeneKriteriumFiltrovane(bodyKriterium, k1_4, Filtruj())

vysledok = ZlozeneKriterium(,kr6, kr7, kr8, kr9, kr10, disciplinadneKriterium, nasadzovacieKriterium)

Nasadenie

poradie: Teams[]

VyhryVonku

Vyhry

GolDanyVonku

Disciplina

RozdielGolov

Goly

Body«Interface»
Scitovanie

pocitat(z: Zapas): pair<int, int>

ZlozeneKriteriumFiltrovaneZlozeneKriterium

Filtruj

filtruj(teamy: Team[], Skupina): Skupina

ScitacieKriterium

«Interface»
Kriterium

zorad(skupina: Skupina): Team[][]

«datatipe»
Team

nazov: string Skupina

Zapas

golyD: int
golyH: int
disciplinaD: int
disciplinaH: int

«uses»

2**

*

teamH
1

teamD
1


